Hexachlorocyclopentadiene
Response Ratio

Amount Ratio

R = 1.26e-002 A*A + 7.35e-002 A - 4.26e-002
Coef of Det (r"2) = 0.998 Curve Fit: Quadratic

Method Name: Z:\HPCHEM1\BNA_F\METHODS\8270-BF081117_.M
Calibration Table Last Updated: Fri Aug 11 15:55:57 2017




Pentachlorophenol
Response Ratio
0.18-

Amount Ratio

R = -3.26e-003 A*A + 6.22e-002 A - 2.56e-002
Coef of Det (r™2) = 0.993 Curve Fit: Quadratic

Method Name: Z:\HPCHEM1\BNA_F\METHODS\8270-BF081117_.M
Calibration Table Last Updated: Fri Aug 11 15:55:57 2017




